- 2

BRAND MODEL

CLOPAY | 902C, 902D, 902l
902M, 902P, 902T

IDEAL C2ALC, C2ALD, C2ALl,
C2ALM, C2ALP, C2ALT

HORIZONTAL TRACK END HANGER
BRACKET (SUPPLIED BY DOOR
INSTALLER> CLOSES ROLLER
CHANNEL. INTERMEDIATE HANGER
REQ'D FOR DOORS IF HORIZONTAL
TRACK DEFLECTION EXCEEDS
1/240TH OF DOOR HEIGHT.

!\

12 GA. GALV. STEEL
CONTINUOUS 1-5/8" x
2-3/8" ANGLE. ANGLE

FASTENED TO wOOD

JAMB WITH 5/16” x

1-5/87 wOOD LAG
SCREWS ON 24”
MIN. O.C. DISTANCE.

2’ GALV. STEEL TRACK

075 MIN. TRACK THICKNESS. \ -
VERTICAL TRACK TO BE

EITHER, BRACKET MOUNT
CONTINUOUS ANGLE, OR
REVERSE ANGLE TRACK. ALL
TRACK CLIPS ARE 12 GA. GALV.
STEEL. CLIPS ARE ATTACHED

TO TRACK WITH EITHER TwO
174" RIVETS 0OR ONE 1/4”
BOLT.

TRACK CONFIGURATION

STEEL JAMBS

3/16" MIN. MAY BE BACK—
STEEL JAMB FILLED WITH
CONCRETE, BUT

NOT REQUIRED.

1/8"x1” LONG

FILLET WELD (E60XX
ELECTRODE MIN.). WELD
TO BE LOCATED VERTICALLY

N TNeLE AT 2% 12 GA. GALV. REVERSE

\(I:VEEBE%QN[&FTQ?\I%LE AT OR CONTINUOUS ANGLE
MOUNT TRACK FASTENED

SAME. SPAGING. DIRECTLY TO STEEL JAMB.

NOTE: DOUBLE TRACK LOW 5

REVISIONS

REV. NO.|[ ZONE: | DATE:

ECN NO.| APPVD:

DESCRIPTION

12/01/08

- SH RELEASE FOR PRODUCT

ION

SECTION 1 -1

HEADROOM, HI-LIFT TRACK, * TALL U-BAR ON EACH
FOLLOW-THE-ROOF TRACK, SECTION (U-BAR ARE 2’ SHORTER
THAN THE DOOR) U-BARS ON TOP
AND VERTICAL LIFT TRACK & BOTTOM SECTION ATTACHED
ARE AVAILABLE OPTIONS. DIRECTLY TO THE RAIL. SEE
3” TRACK ALSO AVAILABLE. T—- SECTION 1-1
o)
MAX HEIGHT: NOTE
DOOR — 18'0" CENTER STILES ARE
HEIGHT] “L” T ALWAYS 44" FROM
8—0” | 88” 8 ONE POINT {— CENTER TO CENTER MEETING RAILS
| - - L LOCKING FOR ANY GIVEN DOOR FORM A TONGUE
1] 9-0” |100 T WIDTH. DIMENSION 'B' ﬁgI%TGROOVE
10'-0" | 112/ o IS THE LEFTOVER
— - O DIMENSION ON BOTH
120" |136 = ENDS OF THE DOOR.
14'-0" [160"
Il
15'-0" [17¢2’ — >
16/-0" [184°] "L’ 5 1 MAX 20'2* WIDTH B
17°-0" |194" o \‘P FULL-VISION SECTIONS
18'-0" |204” T ANEL IN BOTTOM SECTION BE?_A:BR" BEED G;I\LIASPSLA?:E\ -
I U .050” THICK SMOOTH y
E ALUM|NUMC. WITH SNAP—IN GLAZING
=2 BEAD AND HOT MELT N
247 O.C L OR BUTYL TAPE.
| 10" = #14X5/8" SHEET METAL
A J—‘ SCREWS QTY (4) ALONG
‘ ‘ TER OF EACH HINGE
I —_—
) L DOOR IS WADE RAILS WITH FULL LENGTH
3-1/2" | L EOE S e UMINUM  EXTRUSIONS. 5/16° ALUMINUM RODS AND 14 GA.

LHR TOP BRACKET
DOUBLE HORIZONTAL

TOP & BOTTOM RAILS .075
INTER. TOP & BOTTOM RAILS —.075
TOP HAS .1 x 1.875” FIN

INTER. TOP RAIL CAP —.040
SINGLE & DOUBLE END STILES .075
CENTER STILES —— .062

FLANGE NUTS 7

—

REINFORCING FIN ON INTER. TOP
RAILS ANGLE CUT AT END STILES

ANCHOR NOTE: FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM ON—CENTER DISTANCE.
HIGHEST ANCHOR INSTALLED AT LEAST AS HIGH AS THE DOOR OPENING.

WOOD JAMB ON CONCRETE
2,000 PSI MIN
CONCRETE
3/8" x 3" (MIN. EMBED
1=1/2") SLEEVE ANCHOR
BOLT. WASHER INCL'D. 24"
MAX. 0.C. TO SECURE 2x6
JAMB TO CONCRETE. C'SINK
(| | IF NEEDED. 3" MIN. EDGE

=i DIS'II'ANCE

=

12 GA. BRACKET MOUNT OR
CONTINUOUS ANGLE MOUNT TRACK
FASTENED TO 2x6 #2 OR BETTER
YELLOW PINE JAMB WITH

ONE 5/16"x1-5/8" LG.

LAG SCREW PER BRACKET

OR TRACK CLIP LOCATION.

CONCRETE JAMBS

2,000 PSI MIN
CONCRETE

1/4"x3" (MIN. EMBED
1=1/2") SELF-TAPPING
CONCRETE ANCHOR. 1”
WASHER REQ'D. 24”
/7] MAX. 0.C. TO SECURE
] ANGLE TO CONCRETE.
../ 3" MIN. EDGE DIST.

REVERSE OR CONTINUOUS
ANGLE MOUNT TRACK
FASTENED DIRECTLY

TO CONCRETE.

SECTION 5§ — 5

j DOUBLE
| END HINGES

CENTER STILES FASTENED TO RAILS
WITH FULL LENGTH 5/16" ALUMINUM

RODS AND FLANGE NUTS%

COR-LOVLY CENTER HINGE OF 16 GA.
GALV. STEEL, ATTACHED TO INTER.
BOTTOM RAIL WITH (2) #14 x 5/8"
SHT MTL SCREWS AND TO INTER. TOP

3" TALL x 20 GA. GALV. STEEL
U-BARS ON TOP AND BOTTOM
SECTION ARE ATTACHED
DIRECTLY TO SECTION W/ (@
1/4"x3/4" SELF TAPPING SCREW
AT EACH STILE LOCATION.

12 GA. GALV. STEEL TOP ROLLER BRACKET.
EACH BRACKET ATTACHED W/(4) #14x5/8
SHEET METAL SCREWS. ADJUSTABLE SLIDE

ATTACHED TO TOP BRACKET WITH QTY (2)
1/4” X 1/2" BOLTS & NUTS PER BRACKET.

END ROLLER HINGES
OF 14 GA MIN GALV
STEEL, FASTENED WITH
(4) #14 X 5/8”
SHEET MTL SCREWS

3" TALL x 20 GA. GALV. STEEL
U-BARS. EACH U-BAR TO BE
ATTACHED TO 2°X2° ALUMINUM
WITH TwO 1/4° TRACK BOLT AND
NUT PER STILE LOCATION.

2" x 2" x 1/8” ALUMINUM ANGLE,
(1) ATTACHED TO EACH
REINFORCING RIB, WITH (2) 1/4”
HEX BOLTS AND FLANGE NUTS, AT
EACH HINGE LOCATION.

BOTTOM ROLLER BRACKET OF 12 GA. GALV. STEEL,
FASTENED WITH (4) #14 X 5/8° SHT MTL SCREWS

2" 10 BALL LONG STEM STEEL ROLLER WITH
STEEL TIRE

BOTTOM SECTION REINFORCED WITH
A TEMPERED ALUMINUM EXTRUSION
WITH INTEGRAL RETAINER FOR
FLEXIBLE VINYL ASTRAGAL

RAIL WITH @ 1/4 - 20 x 1/2" HEX
STEEL JAMBS WOOD JAMBS HEAD MACHINE SCREWS & NUTS
3/16" MIN. STEEL 3/8°x3” (MIN. | SECTION 2 — 2 |
JAMB EMBED 1-1/2")
o I LAG SCREW.
MAY BE BACK—FILLED ;éfl-‘x%{;Pmc 1-1/8" WASHER
WITH CONCRETE, BUT SCREW REQD. 24 MAX. DESIGN ENGINEER: MARK WESTERFIELD, P.E.
NOT REQUIRED FOR 17" MAX. 0.C (5 | 0.C. TO SECURE - FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513
SELF TAPPING SCREW. - 0.C. [ 2x6 WOOD JAMB Third Angle DESIGN LOADS: +13.5 & —13.5 P.S.F.
XﬁGEEC'lI'JORE TO WOOD Projection TEST LOADS  +20 & —20 P.S.F. MPC: C—AL—1F499
STEEL JAMB. E:TRNUE%TDUE%E' C'SINK Unless Stated Otherwise | (i [:I 3585 Dgllfle4?>82(l)evasrg CLOPAY WINDLOAD RATING
ason,
TOLERANCES are w » ddocpay 16l NG. 913-770-4800 W 1
12 GA. BRACKET MOUNT OR 0 = +.031 uilding Products Company Fax No. 13—77’0—’:1853
CONTINUOUS ANGLE MOUNT TRACK 0-88 = I-gég DESCRIPTION: M/N 902, C2AL 20°2” WIDE DES. +13.5/-13.5 PSF
FASTENED TO 2x6 #2 OR BETTER . = *. - : :
12 GA. REVERSE OR YELLOW PINE JAMB WITH .0000 = +.001 DRAWN BY: NS DATE: 12/1/08 | SCALE: NONE DWG.
CONTINUOUS ANGLE ONE 5/16"x1-5/8" LG. Degrees = 1/2 CHECKED BY: SH DATE: 12/2/08 |SHEET 1 OF 1 |SIZE
MOUNT TRACK FASTENED LAG SCREW PER BRACKET Unless Stated Otherwise
DIRECTLY TO STEEL JAMB. OR TRACK CLIP LOCATION. DIMENSIONS ARE IN INCHES.|DWG. NO.: 103617 VER: -

N




